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JIIE 452 K4 FijE AIEEE | BF A5 | KLEF 10+X %k X&K
1 X HfE BERXZ SR 293 287 580 9 5
2 ;IA %’n ¢§ﬁ$1¢]§qﬂmﬁ%$§ 287 264 551 3 1
3 SR B BERX= SR 265 267 532 9 3
4 f =i LEETMT7HE 254 264 518 5 2
5 A AR BERX= SR 236 261 497 6 0
6 HE 23FH BEX=AEKR 237 258 495 3 2
7 ik S IER LEEM7HE 243 222 465 3 0
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B 15z K4 FijE AESE | BFEEE| LEE 10+X %k XEk
1 [BHE &+ BEXZAER 293 287 580 9 1
2 B EN BEX=AER 280 288 568 15 4
3 N+ E= L2EEH7HE 261 306 567 8 3
4 By 2 LEEM7HE 271 287 558 10 3
5 iR ZoEHM7HE 260 285 545 7 0
6 XK & BEX=AEKR 271 273 544 4 1
7 ARER EE— LEERM7HE 250 288 538 13 3
8 %2 &H BEX=AEKR 253 265 518 4 1
9 T BES BEKXZAEKR 266 247 513 3 0
10 K HEBH LEETR7HE 268 242 510 4 1
11 AR EN LEEM7HE 248 255 503 7 1
12 BEXR KE BERX SR 222 248 470 1 0
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B 15z K4 & AIESE | BFE S5 | KLES 10+X %k XEk
1 Y5l K LEEM7HE 322 317 639 21 4
2 7136 Uoéﬁ —EFEH; ﬁfg 268 281 549 9 3
3 Al HE —EBm7HE 266 280 546 8 2
4 EHEES AT HERER 260 266 526 7 2
5 T B AL EPER 230 294 524 6 1
6 Frit REE s h 7 ih e 225 250 475 7 3
7 BR BE [if] U5 v 3 B  HR EEA 224 250 474 3 1
8 F13H &R fif] 5 7 37 B R AR 237 234 471 4 2
9 BiE & [if] U5 v 3 B  HR EEA 233 219 452 2 1
10 gk =2 AL H BRI 225 185 410 3 1
11 WA —iE AL EPER 181 165 346 3 0
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1 /%8 Stk EBRHMTT7HSE 276 282 558 7 1
2 HF%’% j’rgﬁ %E#g? g’;g 239 245 484 4 1
3 Wi % EBHHT7HE 217 214 431 6 4
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1 BEAR #E EHTVHE 336 341 677 38 18
2 Ak #21= LEEHM7HE 334 342 676 36 15
3 EH f£F LEEMT7HE 332 333 665 28 8
4 REE EBHM7HE 328 327 655 33 12
5 FE BA LEERM7HE 319 325 644 16 6
6 XFHF = L2EETVHE 315 309 624 15 5
7 gk ki ZEWH7IBE 315 307 622 20 7
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